Exit Ticket 02 - Speed, Distance, Time

edexcel Correct Answer: ABCD

Explanation:

1
A train travelled 120 km in 1; hours.

What was the average speed of the train?

100 kimv/h 80 knvh 60 knvh 180 km/h
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A car travels for 325 Correct Answer: ABCD
kilometres at an average L
D speed of 62 kilometres per Explanation:
hour --------------------------------------------------------------------------
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how long it takes in hours?

325 =+ 62 B 325-62

62 + 325 B 62 x325
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What was the i « Explanation:

speed of the 20

van between ‘Z
By TRl
Time (24 hour)
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15 km/h B 30 km/h ..........................................................................
45km/h B 20 km/h
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